

A new class of p -harmonic functions

Poonam Sharma and Omendra Mishra

*Department of Mathematics & Astronomy
University of Lucknow, Lucknow 226007 India*

sharma_poonam@lkouniv.ac.in, mishraomendra@gmail.com

Abstract

A linear operator \mathcal{L}^n on the class S_{H_p} of p -harmonic functions is considered and by involving this operator, a new class $S_{H_p}(m, n, \alpha)$ of p -harmonic functions is defined and studied. We obtain a sufficient coefficient inequality for functions $F \in S_{H_p}$ to be sense preserving and univalent in \mathbb{D} and to belong to the class $S_{H_p}(m, n, \alpha)$. It is shown that this sufficient coefficient inequality is necessary for functions belonging to a subclass $\overline{S_{H_p}}(m, n, \alpha)$. On using the necessary and sufficient coefficient inequality for the class $\overline{S_{H_p}}(m, n, \alpha)$, it is shown that this class is convex under linear combination. The extreme points for this class are also given.

Subject class :Primary 30C45; Secondary 30C55.

Keywords: Harmonic functions; bi-harmonic functions; univalent functions; p -harmonic functions.

1 Introduction

A complex-valued function $f = u + iv$ is said to be a harmonic map in the unit disk $\mathbb{D} = \{z \in \mathbb{C} : |z| < 1\}$ if u and v are real-valued harmonic functions in \mathbb{D} . A harmonic function f satisfy the Laplace equation $\Delta f = 0$, where

$$\Delta = \frac{4\partial^2}{\partial z \partial \bar{z}} = \frac{\partial^2}{\partial x^2} + \frac{\partial^2}{\partial y^2}$$

and it can also be expressed as $f = h + \bar{g}$, where h and g are analytic functions in \mathbb{D} . The Jacobian of the function $f = h + \bar{g}$ is given by $J_f = |f_z|^2 - |f_{\bar{z}}|^2$. According to the Lewy [3], every harmonic function $f = h + \bar{g}$ is locally univalent and sense preserving in \mathbb{D} if and only if $J_f > 0$ in \mathbb{D} . A complex-valued mapping F in a domain \mathbb{D} is called p -harmonic (or *multi-harmonic* or *poly-harmonic*) if F satisfies the equation

$$\underbrace{\Delta \dots \Delta}_p F = \Delta^p F = \Delta(\Delta^{p-1} F) = 0$$

for some $p \in \mathbb{N} = \{1, 2, 3, \dots\}$. A function F which is p -harmonic in the unit disk \mathbb{D} has the representation

$$(1.1) \quad F(z) = \sum_{k=1}^p |z|^{2(k-1)} f_{p-k+1}(z),$$

where $f_{p-k+1}(z)$ is harmonic in \mathbb{D} for each $k \in \{1, \dots, p\}$ (see [1]). Clearly, a p -harmonic map is harmonic.

Let S_{H_p} denotes a class of all p -harmonic mappings of the form (1.1) in the unit disk \mathbb{D} , where for each $k \in \{1, \dots, p\}$

$$(1.2) \quad f_{p-k+1}(z) = h_{p-k+1}(z) + \overline{g_{p-k+1}(z)}$$

and

$$h_{p-k+1}(z) = \sum_{j=1}^{\infty} a_{j,p-k+1} z^j, \quad g_{p-k+1}(z) = \sum_{j=1}^{\infty} b_{j,p-k+1} z^j$$

$$(a_{1,p} = 1, |b_{1,p}| < 1; z \in \mathbb{D}).$$

Note that for $p = 1$ and $p = 2$, the mapping of the form (1.1) is called, respectively a harmonic and a bi-harmonic map. The p -harmonic mappings have been studied by several researchers [5, 7, 8, 9] (see also [2, 6]).

We denote a subclass of S_{H_p} by \overline{S}_{H_p} if functions therein are of the form

$$(1.3) \quad F(z) = 2z - \sum_{k=1}^p \sum_{j=1}^{\infty} |z|^{2(k-1)} (|a_{j,p-k+1}| z^j + |b_{j,p-k+1}| \bar{z}^j)$$

$$(a_{1,p} = 1, |b_{1,p}| < 1; z \in \mathbb{D})$$

which may also be given by

$$(1.4) \quad F(z) = z - \sum_{j=2}^{\infty} |a_{j,p}| z^j - \sum_{j=1}^{\infty} |b_{j,p}| \bar{z}^j - \sum_{k=2}^p \sum_{j=1}^{\infty} |z|^{2(k-1)} (|a_{j,p-k+1}| z^j + |b_{j,p-k+1}| \bar{z}^j).$$

Motivated with the operator defined by Li and Liu [4] (see also [9]), we consider an operator $\mathcal{L}^n : S_{H_p} \rightarrow S_{H_p}$ which is defined for $n \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}$ by

$$\mathcal{L}^0 F(z) = F(z), \quad \mathcal{L}^1 F(z) = \mathcal{L}F(z) = [z(F(z))_z + \bar{z}(F(z))_{\bar{z}}]$$

$$\text{and } \mathcal{L}^n F(z) = \mathcal{L}^1(\mathcal{L}^{n-1} F(z)), n \in \mathbb{N}.$$

Associated with the operator \mathcal{L}^n , we define a class $S_{H_p}(m, n, \alpha)$ of functions $F \in S_{H_p}$ which satisfy the condition

$$(1.5) \quad \operatorname{Re} \left\{ \frac{\mathcal{L}^m F(z)}{\mathcal{L}^n F(z)} \right\} > \alpha,$$

where $m \in \mathbb{N}, n \in \mathbb{N}_0, m > n, 0 \leq \alpha < 1$ and at $z = 0, \frac{\mathcal{L}^m F(z)}{\mathcal{L}^n F(z)} = 1$.

For a p -harmonic mapping F of the form (1.1), we have

$$(1.6) \quad \mathcal{L}^n F(z) = \sum_{k=1}^p \sum_{j=1}^{\infty} |z|^{2(k-1)} \{j + 2(k-1)\}^n \left(a_{j,p-k+1} z^j + \overline{b_{j,p-k+1} z^j} \right)$$

$$(a_{1,p} = 1, |b_{1,p}| < 1; z \in \mathbb{U}).$$

Denote $\overline{S_{H_p}}(m, n, \alpha) = S_{H_p}(m, n, \alpha) \cap \overline{S_{H_p}}$. The class $S_{H_p}(n+1, n, \alpha)$ reduces to the class denoted by $S_{H_p}(n, \lambda, \alpha)$ studied by Yaşar and Yalçın [9] for special value $\lambda = 1$.

In this paper, a linear operator \mathcal{L}^n for the class S_{H_p} of p -harmonic functions is considered and by involving this operator, a new class $S_{H_p}(m, n, \alpha)$ of p -harmonic functions is defined and studied. In our main results, we obtain a sufficient coefficient inequality for functions $F \in S_{H_p}$ to be sense preserving and univalent in \mathbb{D} and belonging to the class $S_{H_p}(m, n, \alpha)$. It is shown that this sufficient coefficient inequality is necessary for functions belonging to a subclass $\overline{S_{H_p}}(m, n, \alpha)$ of the class $S_{H_p}(m, n, \alpha)$. On using the necessary and sufficient coefficient inequality for the class $\overline{S_{H_p}}(m, n, \alpha)$, it is shown that this class is convex under linear combination. The extreme points for this class are also given.

2 Main Results

In our first main result, we show first a necessary condition for functions to be univalent, sense-preserving and in the class $S_{H_p}(m, n, \alpha)$.

Theorem 2.1. *Let $F \in S_{H_p}$ be a p -harmonic function of the form (1.1) and let*

$$(2.1) \quad \sum_{k=1}^p \sum_{j=1}^{\infty} [\{j + 2(k-1)\}^m - \alpha \{j + 2(k-1)\}^n] (|a_{j,p-k+1}| + |b_{j,p-k+1}|) \leq 2(1 - \alpha),$$

where $m \in \mathbb{N}, n \in \mathbb{N}_0, m > n, 0 \leq \alpha < 1, a_{1,p} = 1, |b_{1,p}| < 1$. Then F is sense preserving and univalent in \mathbb{D} and $F \in S_{H_p}(m, n, \alpha)$.

Proof. Suppose $z_1, z_2 \in \mathbb{D}$ ($z_1 \neq z_2$), $|z_1| \leq |z_2| < 1$. Then by using (2.1), we get

$$\begin{aligned}
|F(z_1) - F(z_2)| &= \left| \sum_{k=1}^p \left\{ |z_1|^{2(k-1)} f_{p-k+1}(z_1) - |z_2|^{2(k-1)} f_{p-k+1}(z_2) \right\} \right| \\
&\geq |z_1 - z_2| \left\{ 1 - \sum_{j=2}^{\infty} |a_{j,p}| \frac{|z_1^j - z_2^j|}{|z_1 - z_2|} - \sum_{j=1}^{\infty} |b_{j,p}| \frac{|z_1^j - z_2^j|}{|z_1 - z_2|} \right. \\
&\quad \left. - \sum_{k=2}^p \sum_{j=1}^{\infty} |z_2|^{2(k-1)} \frac{|z_1^j - z_2^j|}{|z_1 - z_2|} (|a_{j,p-k+1}| + |b_{j,p-k+1}|) \right\} \\
&> |z_1 - z_2| \left\{ 1 - \sum_{j=2}^{\infty} j |a_{j,p}| - \sum_{j=1}^{\infty} j |b_{j,p}| \right. \\
&\quad \left. - \sum_{k=2}^p \sum_{j=1}^{\infty} j (|a_{j,p-k+1}| + |b_{j,p-k+1}|) \right\} \\
&\geq |z_1 - z_2| \left[2 - \sum_{k=1}^p \sum_{j=1}^{\infty} \frac{[\{j + 2(k-1)\}^m - \alpha \{j + 2(k-1)\}^n]}{1 - \alpha} (|a_{j,p-k+1}| + |b_{j,p-k+1}|) \right] \\
&\geq 0
\end{aligned}$$

which proves that each mapping in $S_{H_p}(m, n, \alpha)$ is univalent. Now to show F is sense-preserving, we need to show that the Jacobian:

$$J_F(z) = \left(\left| \frac{\partial}{\partial z} F(z) \right| - \left| \frac{\partial}{\partial \bar{z}} F(z) \right| \right) \left(\left| \frac{\partial}{\partial z} F(z) \right| + \left| \frac{\partial}{\partial \bar{z}} F(z) \right| \right) > 0,$$

We get for $z \neq 0$,

$$\begin{aligned}
& \left| \frac{\partial}{\partial z} F(z) \right| - \left| \frac{\partial}{\partial \bar{z}} F(z) \right| \\
&= \left| 1 + \sum_{j=2}^{\infty} j a_{j,p} z^{j-1} + \sum_{k=2}^p \sum_{j=1}^{\infty} |z|^{2(k-1)} (j+k-1) a_{j,p-k+1} z^{j-1} \right. \\
&+ \left. \sum_{k=1}^p \frac{|z|^{2(k-1)}}{z} \sum_{j=1}^{\infty} (k-1) \bar{b}_{j,p-k+1} \bar{z}^j \right| \\
&- \left| \sum_{k=1}^p \frac{|z|^{2(k-1)}}{\bar{z}} \sum_{j=1}^{\infty} (k-1) a_{j,p-k+1} z^j + \sum_{k=1}^p \sum_{j=1}^{\infty} |z|^{2(k-1)} (j+k-1) \bar{b}_{j,p-k+1} \bar{z}^{j-1} \right|. \\
&> 2 - \sum_{k=1}^p \sum_{j=1}^{\infty} \{j+2(k-1)\} (|a_{j,p-k+1}| + |b_{j,p-k+1}|) \\
&\geq 2 - \sum_{k=1}^p \sum_{j=1}^{\infty} \frac{[\{j+2(k-1)\}^m - \alpha \{j+2(k-1)\}^n]}{1-\alpha} (|a_{j,p-k+1}| + |b_{j,p-k+1}|) \\
&\geq 0
\end{aligned}$$

by using the inequality (2.1). This proves that the mapping F is sense preserving. Now to show $F \in S_{H_p}(m, n, \alpha)$, we need to show the condition (1.5) which is trivial at $z = 0$. Let $0 \neq z \in \mathbb{D}$. Then, to show the condition (1.5) we let

$$\frac{\mathcal{L}^m F(z) - \alpha \mathcal{L}^n F(z)}{\mathcal{L}^n F(z)} = (1-\alpha) \frac{1+w(z)}{1-w(z)}$$

and then, we only need to show

$$|w(z)| = \left| \frac{\mathcal{L}^m F(z) - \mathcal{L}^n F(z)}{\mathcal{L}^m F(z) + (1-2\alpha) \mathcal{L}^n F(z)} \right| < 1.$$

Using (1.6), we get

$$\begin{aligned}
& |w(z)| \\
= & \left| \frac{\sum_{k=1}^p \sum_{j=1}^{\infty} |z|^{2(k-1)} [\{j+2(k-1)\}^m - \{j+2(k-1)\}^n] (a_{j,p-k+1} z^j + \overline{b_{j,p-k+1} z^j})}{\sum_{k=1}^p \sum_{j=1}^{\infty} |z|^{2(k-1)} [\{j+2(k-1)\}^m + (1-2\alpha)\{j+2(k-1)\}^n] (a_{j,p-k+1} z^j + \overline{b_{j,p-k+1} z^j})} \right| \\
< & \frac{\sum_{k=1}^p \sum_{j=1}^{\infty} [\{j+2(k-1)\}^m - \{j+2(k-1)\}^n] (|a_{j,p-k+1}| + |b_{j,p-k+1}|)}{4(1-\alpha) - \sum_{k=1}^p \sum_{j=1}^{\infty} [\{j+2(k-1)\}^m + (1-2\alpha)\{j+2(k-1)\}^n] (|a_{j,p-k+1}| + |b_{j,p-k+1}|)} \\
\leq & 1
\end{aligned}$$

by using the inequality (2.1). This completes the proof of Theorem 2.1. \square

Theorem 2.2. Let $F \in \overline{S_{H_p}}$ be of the form (1.3). Then $F \in \overline{S_{H_p}}(m, n, \alpha)$ if and only if (2.1) holds.

Proof. The class $\overline{S_{H_p}}(m, n, \alpha) \subset S_{H_p}(m, n, \alpha)$, the "if part" is proved in Theorem 2.1. For "only if" part, we consider functions $F \in \overline{S_{H_p}}$ of the form (1.3) satisfying the class condition (1.5) for all $z \in \mathbb{D}$. Choosing a real positive $z \rightarrow 1^-$, the class condition (1.5) is given by

$$\begin{aligned}
& \frac{2(1-\alpha) - \sum_{k=1}^p \sum_{j=1}^{\infty} [\{j+2(k-1)\}^m - \alpha\{j+2(k-1)\}^n] (|a_{j,p-k+1}| + |b_{j,p-k+1}|)}{2 - \sum_{k=1}^p \sum_{j=1}^{\infty} \{j+2(k-1)\}^n (|a_{j,p-k+1}| + |b_{j,p-k+1}|)} \\
& > 0
\end{aligned}$$

which easily proves the inequality (1.1). \square

Theorem 2.3. The family $\overline{S_{H_p}}(m, n, \alpha)$ is closed under convex combinations.

Proof. Suppose for $i = 1, 2, \dots$, $F^i \in \overline{S_{H_p}}(m, n, \alpha)$ be of the form

$$F^i(z) = 2z - \sum_{k=1}^p \sum_{j=1}^{\infty} |z|^{2(k-1)} \left(|a_{j,p-k+1}^i| z^j + |b_{j,p-k+1}^i| \overline{z^j} \right), a_{1,p}^i = 1, |b_{1,p}^i| < 1.$$

Then by Theorem 2.2 we have

$$(2.2) \quad \sum_{k=1}^p \sum_{j=1}^{\infty} \frac{[\{j+2(k-1)\}^m - \alpha\{j+2(k-1)\}^n]}{2(1-\alpha)} (|a_{j,p-k+1}^i| + |b_{j,p-k+1}^i|) \leq 1.$$

For $t_i \in [0, 1]$, with $\sum_{i=1}^{\infty} t_i = 1$, the convex combination of $F^i(z)$ may be written as

$$\sum_{i=1}^{\infty} t_i F^i(z) = 2z - \sum_{k=1}^p \sum_{j=1}^{\infty} |z|^{2(k-1)} \sum_{i=1}^{\infty} t_i (|a_{j,p-k+1}^i| z^j + |b_{j,p-k+1}^i| \bar{z}^j).$$

Using (2.2), we get

$$\begin{aligned} & \sum_{k=1}^p \sum_{j=1}^{\infty} \frac{[\{j+2(k-1)\}^m - \alpha \{j+2(k-1)\}^n]}{2(1-\alpha)} \sum_{i=1}^{\infty} t_i (|a_{j,p-k+1}^i| + |b_{j,p-k+1}^i|) \\ = & \sum_{i=1}^{\infty} t_i \sum_{k=1}^p \sum_{j=1}^{\infty} \frac{[\{j+2(k-1)\}^m - \alpha \{j+2(k-1)\}^n]}{2(1-\alpha)} (|a_{j,p-k+1}^i| + |b_{j,p-k+1}^i|) \\ \leq & \sum_{i=1}^{\infty} t_i = 1 \end{aligned}$$

which by Theorem 2.2 proves that $\sum_{i=1}^{\infty} t_i F^i \in \overline{S_{H_p}}(m, n, \alpha)$. \square

Remark 2.1. The inequality (2.1) may also be given by

$$\begin{aligned} & \sum_{j=2}^{\infty} (j^m - \alpha j^n) |a_{j,p}| + \sum_{j=1}^{\infty} (j^m - \alpha j^n) |b_{j,p}| \\ & + \sum_{k=2}^p \sum_{j=1}^{\infty} [\{j+2(k-1)\}^m - \alpha \{j+2(k-1)\}^n] (|a_{j,p-k+1}| + |b_{j,p-k+1}|) \\ (2.3) \quad & \leq 1 - \alpha \end{aligned}$$

or

$$\begin{aligned} & \sum_{k=1}^p \{(2k-1)^m - \alpha (2k-1)^n\} (|a_{1,p-k+1}| + |b_{1,p-k+1}|) \\ & + \sum_{k=1}^p \sum_{j=2}^{\infty} [\{j+2(k-1)\}^m - \alpha \{j+2(k-1)\}^n] (|a_{j,p-k+1}| + |b_{j,p-k+1}|) \\ (2.4) \quad & \leq 2(1-\alpha). \end{aligned}$$

Remark 2.2. The coefficient inequality (2.4) for $\alpha = 0$ and for $m = 1, n = 0$, was considered as a class condition for p -harmonic functions by Qiao and Wang in [8].

Theorem 2.4. Let $F \in \overline{S_{H_p}}(m, n, \alpha)$. Then for $|z| = r$ (< 1)

$$\begin{aligned}
 |F(z)| &\leq (1 + |b_{1,p}|) r \\
 &+ \left(\frac{2(1-\alpha)}{2^m - 2^n \alpha} - \sum_{k=1}^p \frac{\{(2k-1)^m - \alpha(2k-1)^n\}}{2^m - 2^n \alpha} (|a_{1,p-k+1}| + |b_{1,p-k+1}|) \right) r^2 \\
 (2.5) \quad &+ \left(\sum_{k=2}^p (|a_{1,p-k+1}| + |b_{1,p-k+1}|) \right) r^3
 \end{aligned}$$

and

$$\begin{aligned}
 |F(z)| &\geq (1 - |b_{1,p}|) r \\
 &- \left(\frac{2(1-\alpha)}{2^m - 2^n \alpha} - \sum_{k=1}^p \frac{\{(2k-1)^m - \alpha(2k-1)^n\}}{2^m - 2^n \alpha} (|a_{1,p-k+1}| + |b_{1,p-k+1}|) \right) r^2 \\
 (2.6) \quad &- \left(\sum_{k=2}^p (|a_{1,p-k+1}| + |b_{1,p-k+1}|) \right) r^3.
 \end{aligned}$$

Proof. Let $F \in \overline{S_{H_p}}(m, n, \alpha)$ be of the form (1.3). Then for $|z| = r$ (< 1)

$$\begin{aligned}
 |F(z)| &= \left| z - |b_{1,p}| \bar{z} - \sum_{k=2}^p |z|^{2(k-1)} (|a_{1,p-k+1}| z + |b_{1,p-k+1}| \bar{z}) \right. \\
 &\quad \left. - \sum_{k=1}^p \sum_{j=2}^{\infty} |z|^{2(k-1)} (|a_{j,p-k+1}| z^j + |b_{j,p-k+1}| \bar{z}^j) \right| \\
 &\leq (1 + |b_{1,p}|) r + \left(\sum_{k=2}^p (|a_{1,p-k+1}| + |b_{1,p-k+1}|) \right) r^3 \\
 &\quad + \left(\sum_{k=1}^p \sum_{j=2}^{\infty} (|a_{j,p-k+1}| + |b_{j,p-k+1}|) \right) r^2 \\
 &\leq (1 + |b_{1,p}|) r + \left(\sum_{k=2}^p (|a_{1,p-k+1}| + |b_{1,p-k+1}|) \right) r^3 \\
 &\quad + \frac{r^2}{2^m - 2^n \alpha} \sum_{k=1}^p \sum_{j=2}^{\infty} [\{j + 2(k-1)\}^m - \alpha \{j + 2(k-1)\}^n] (|a_{j,p-k+1}| + |b_{j,p-k+1}|)
 \end{aligned}$$

which by coefficient inequality (2.4) proves the result (2.5). Similarly, we can prove (2.6). \square

Theorem 2.5. Let $F \in \overline{S_{H_p}}$. Then $F \in \overline{S_{H_p}}(m, n, \alpha)$ if and only if

$$(2.7) \quad F(z) = \sum_{k=1}^p \sum_{j=1}^{\infty} \{x_{j,p-k+1} h_{j,p-k+1}(z) + y_{j,p-k+1} g_{j,p-k+1}(z)\},$$

where

$$(2.8) \quad \begin{aligned} h_{1,p}(z) &= z, \quad h_{j,p}(z) = z - \frac{1-\alpha}{j^m - \alpha j^n} z^j \quad (j \geq 2), \\ g_{j,p}(z) &= z - \frac{1-\alpha}{j^m - \alpha j^n} \bar{z}^j \quad (j \geq 1), \\ h_{j,p-k+1}(z) &= z - |z|^{2(k-1)} \frac{1-\alpha}{\{j+2(k-1)\}^m - \alpha \{j+2(k-1)\}^n} z^j, \\ g_{j,p-k+1}(z) &= z - |z|^{2(k-1)} \frac{1-\alpha}{\{j+2(k-1)\}^m - \alpha \{j+2(k-1)\}^n} \bar{z}^j \end{aligned}$$

for $2 \leq k \leq p, j \geq 1$ and

$$\sum_{k=1}^p \sum_{j=1}^{\infty} (x_{j,p-k+1} + y_{j,p-k+1}) = 1 \quad (x_{j,p-k+1} \geq 0, y_{j,p-k+1} \geq 0).$$

In particular, the extreme points of $\overline{S_{H_p}}(m, n, \alpha)$ are $\{h_{j,p-k+1}\}$ and $\{g_{j,p-k+1}\}$.

Proof. Let F be expressed by (2.7). Then on using (2.8), we obtain

$$\begin{aligned} F(z) &= \sum_{k=1}^p \sum_{j=1}^{\infty} \{x_{j,p-k+1} h_{j,p-k+1}(z) + y_{j,p-k+1} g_{j,p-k+1}(z)\} \\ &= z - \sum_{j=2}^{\infty} \frac{1-\alpha}{j^m - \alpha j^n} x_{j,p} z^j - \sum_{j=1}^{\infty} \frac{1-\alpha}{j^m - \alpha j^n} y_{j,p} \bar{z}^j \\ &\quad - \sum_{k=2}^p \sum_{j=1}^{\infty} |z|^{2(k-1)} \frac{1-\alpha}{\{j+2(k-1)\}^m - \alpha \{j+2(k-1)\}^n} \\ &\quad \times (x_{j,p-k+1} z^j + y_{j,p-k+1} \bar{z}^j) \end{aligned}$$

which satisfy the coefficient inequality (2.3)

$$\begin{aligned}
& \sum_{j=2}^{\infty} \frac{j^m - \alpha j^n}{1 - \alpha} \times \frac{1 - \alpha}{j^m - \alpha j^n} x_{j,p} \\
& + \sum_{j=1}^{\infty} \frac{j^m - \alpha j^n}{1 - \alpha} \times \frac{1 - \alpha}{j^m - \alpha j^n} y_{j,p} \\
& + \sum_{k=2}^p \sum_{j=1}^{\infty} \frac{\{j + 2(k-1)\}^m - \alpha \{j + 2(k-1)\}^n}{1 - \alpha} \\
& \times \frac{1 - \alpha}{\{j + 2(k-1)\}^m - \alpha \{j + 2(k-1)\}^n} (x_{j,p-k+1} + y_{j,p-k+1}) \\
& = 1 - x_{1,p} \leq 1.
\end{aligned}$$

So $F \in \overline{S_{H_p}}(m, n, \alpha)$. Conversely, let $F \in \overline{S_{H_p}}(m, n, \alpha)$ be of the form (1.4), then by the inequality (2.3)

$$\begin{aligned}
|a_{j,p}| & \leq \frac{1 - \alpha}{j^m - \alpha j^n} \quad (j \geq 2), \quad |b_{j,p}| \leq \frac{1 - \alpha}{j^m - \alpha j^n} \quad (j \geq 1), \\
|a_{j,p-k+1}| & \leq \frac{1 - \alpha}{\{j + 2(k-1)\}^m - \alpha \{j + 2(k-1)\}^n} \quad (j \geq 1, 2 \leq k \leq p), \\
|b_{j,p-k+1}| & \leq \frac{1 - \alpha}{[(j + 2(k-1))^{m-n} - \alpha][j + 2(k-1)]^n} \quad (j \geq 1, 2 \leq k \leq p).
\end{aligned}$$

Set

$$\begin{aligned}
x_{j,p} & = \frac{j^m - j^n \alpha}{1 - \alpha} |a_{j,p}| \quad (j \geq 2), \quad y_{j,p} = \frac{j^m - j^n \alpha}{1 - \alpha} |b_{j,p}| \quad (j \geq 1), \\
x_{j,p-k+1} & = \frac{\{j + 2(k-1)\}^m - \alpha \{j + 2(k-1)\}^n}{1 - \alpha} |a_{j,p-k+1}| \quad (j \geq 1, 2 \leq k \leq p), \\
y_{j,p-k+1} & = \frac{\{j + 2(k-1)\}^m - \alpha \{j + 2(k-1)\}^n}{1 - \alpha} |b_{j,p-k+1}| \quad (j \geq 1, 2 \leq k \leq p)
\end{aligned}$$

and

$$x_{1,p} = 1 - \sum_{j=2}^{\infty} x_{j,p} - \sum_{j=1}^{\infty} y_{j,p} - \sum_{k=2}^p \sum_{j=1}^{\infty} (x_{j,p-k+1} + y_{j,p-k+1}) \geq 0.$$

Then, can easily be proved that $F(z)$ is given by (2.7). □

Acknowledgement

Authors are expressing their gratitude to the referee for giving his/her valuable suggestions to improve this paper.

References

- [1] Sh. Chen, S. Ponnusamy and X. Wang, Bloch constant and Landau's theorem for planar p -harmonic mappings, *J. Math. Anal. Appl.* **373** (2011), no. 1, 102–110.
- [2] K. K. Dixit and S. Porwal, On a subclass of harmonic univalent functions, *JIPAM. J. Inequal. Pure Appl. Math.* **10** (2009), no. 1, Article 27, 9 pp.
- [3] H. Lewy, On the non-vanishing of the Jacobian in certain one-to-one mappings, *Bull. Amer. Math. Soc.* **42** (1936), no. 10, 689–692.
- [4] S. Li and P. Liu, A new class of harmonic univalent functions by the generalized Salagean operator, *Wuhan Univ. J. Nat. Sci.* **12** (2007), no. 6, 965–970.
- [5] Q. Luo and X. Wang, The starlikeness, convexity, covering theorem and extreme points of p -harmonic mappings, *Bull. Iranian Math. Soc.* **38** (2012), no. 3, 581–596.
- [6] M. Öztürk and S. Yalçın, On univalent harmonic functions, *JIPAM. J. Inequal. Pure Appl. Math.* **3** (2002), no. 4, Article 61, 8 pp.
- [7] S. Porwal and K. K. Dixit, On a subclass of p -harmonic mappings, *Tamkang J. Math.* **44** (2013), no. 3, 313–325.
- [8] J. J. Qiao and X. T. Wang, p -harmonic univalent mappings, *Acta Math. Sci. Ser. A (Chin. Ed.)* **32** (2012), no. 3, 588–600.
- [9] E. Yaşar and S. Yalçın, Properties of a class of p -harmonic functions, *Abstr. Appl. Anal.* **2013**, Art. ID 968627, 8 pp.